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330,646 314,131 16,515
124 20t ) 249,085 235,815 13,270
e At 2l 249,085 235,815 13,270
SYHHSY 7,167 7,167 0
301 LBt A 7,167 7,167 0
04 HELHHESY 7,167 7,167 0
O NsggHay 6,667
OF &l H] 2,500 22 %3652 1,825
P 3,000
®l2 6,000 * 128 +30H & 216
o1 2 4| 392,0002 *37H £ 1,176
SRS 150,000 *37H 2 450
oxsgHy e 500
ARDEUSAAY 50,000 50,000 0
401 Al HI L S CHHI 50,000 50,000 0
01 Al&HI 50,000 50,000 0
O 272F0I% 50,000
seeEey 87.180 87,180 0
301 Yete A 87.180 87,180 0
05X - 01X - HEBSEAS 87.180 87,180 0
O ozE+g 85,280
sy 200,000 *26% * 122 62,400
&013 200, 000! *26% *200% 10,400
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O etEeENz 25,0002 x38% +23] 1,900
72 ALK & 5,840 8,840 ~3,000
301 YA 5,840 8,840 ~3,000
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OO0l Z(22)A 40,0002 *26% 1,040
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11oIE 283 1,000 1,000 0
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HE S) 44,6403 x1H 60 2,679
201 et A | 27,200 26,900 300
01 AFR22t2l Yl 14,700 14,400 300
O LetxgH| (BAHLEX3 2, 255 2) 14,700
02 33249l 12,500 12,500 0
O 2ZQL2YLHAM(EBAE2Xg 2, 253 2) 6,000
O AM&EEHI s X 2,000
O HAZH (AL EXg 2, 233 2) 4,500
206 M=l 9,900 7,175 2,725
01 & bl 9,900 7,175 2,725
O Z22x4d 1,000
O geis RFRU(FR) 1,600& *5,0004 8,000
O geis SFU(FLER) 1,800& *5004 900
307 QI2t01 ™ 1,200 1,200 0
05 A2t E = 1,200 1,200 0
O BA 20124 892
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O HAIRA && HHl & Ut ZE 3 A 15,000
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O #AIE &2 600, 000& =21 1,200
O dAE &7 2,200
Ot =33 &a2d 7,800 2,000 5,800
201 LEr2 Y| 3,000 2,000 1,000
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01 AL 2B F SHI 4,800 0 4,800
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03 A2 Z Hl 10,000 3,500 6,500
OAlQlstet = 8t0tE 10,000
HE2HZHI 81,561 78,316 3,245
el 2l 29,556 27,136 2,420
Org & oA 2| 29,556 27,136 2,420
101 1244 dl 29,556 27,136 2,420
03 RIAHAZ 2B+ 29,556 27,136 2,420
O g=2Ex(1g) 29,556
2= 1,166,220 128 13,995
a2 1,166,220 *400% 4,665
ws=2xdl 120,000 128 1,440
&Mz AlH| 130,000& 128 1,560
N2HAZ 27,7573 +1.5%15A1 2t 128 2,095
HEFOHI(E , =4) 1,166, 220& *120% 1,400
L2 & | 62,0563 10 621
24 205,000& »12& 2,460
ANel+=g 50,000& »12& 600
IEL(R21) 20,0002 128 240
tHere sl 40,0003 x12& 480
org & J122&H| 52,005 51,180 825
otg ™ J1234l 52,005 51,180 825
201 Lt 11,025 11,100 AT5
01 At 22l 5,525 5,600 AT5
O =2l 1,200
O 2227 Zdlgxz 1,500
O F2Y M2 25,0003 1132 2,825
02 =24l 5,500 5,500 0
O XH&l 5,500
202 O4dl 30,900 30,000 900
01 = LH 4 bl 1,200 1,200 0
O =UdA bl 1,200
02 X 29,700 28,800 900
O XA 225,000& «12&+11 29,700
203 YR =&l 10,080 10,080 0
01 J122L =4 6,600 6,600 0
O g% 6,600
02 It =2 480 480 0
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